Name:

Test Next Time ! Period:
Algebra 2 Test #2 Practice A day (Mar 1) B day (Mar 5)
. Simplify.
a) —=49 by N-12 o (4-5i)+(1+7i)
dy 6i—(-8+3i) o) 4i-7i n (=6i)
g —12i(-3) wy, J2-3i n ——5-4f=15
= T3
Yo Y
i (3+9i)(2-5i) K (4+3i)(4-3i)

b - ISL-\—l&’L—"\SLL

2. Solve by Factoring

b) .rzz+l2 ==7x o 2P
X+Ixt=0 %7
(Xr2)(x+3)=0

X¥2=0 |Ii=0

5x” =15x
Sx:15%=0
5x (x-3)=0
Bx=g x-370
X=D =5

a) X +3x-10=0

¢) 2x*+6x=0 d)



3. Solve using square roots

a)  9xi=36 by 3x*+2=9

o  3(x+4)=12 9 x'=6
Jer4y =1
X+ = *+2
Y=-4yra
K:’gu)"t”
o —2x*+5=0 p  —3(x+2) =-27
x = F¥io
A
4. Write the i % J L
: quadratic formula - ID T b ’-l-a_c_
Qe

5. Solve using the quadratic formula (start by identifving the values for a, b, and c)

) X +4x-5=0 b F+13=4x —2 X=Yx+HD =0
a=l N
b4 X= a2
L=12

¢ 3x*+5=-8x d xX+x=0

= |
b=l X=0,-]
c=0

¢) x*—6x=—4 ) —2x* =36~16x
&=

b=-lb );-.-_—'fi"],ﬁ
i



6. Use the graph of f{x) to answer the questions below:
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a) £(2)

b) v-intercept: ( O i 5)

. Jand (

(

¢) x-intercepts:

d) For f(x)=-3, find two x-values:

Note: this means “find x when y = 5"

e) Domain of f(x):

f) Range of f(x): 5?/ ..-q

4
b= (x-3) -y
h) What is the lowest point (or coordinate) on the graph?

g) Function:
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7. Use the graph of g(x) to answer the questions below:
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b) y-intercept:

¢) x-intercepts: (=% 0 )and (4 , O)

d) For g(x)=-7. find two x-values:

— &

Note: this means “find x when y

¢) Domain of g(x): @\

f) Range of g(x):

£) Function:

2+

=X~} ]

g(x)
h) What is the highest point (or coordinate) on the graph?

(1.9




8. Solve by using a graphing calculator (draw a rough sketch of the graph and label the x-intercepis)

a) x*+2x-8=0 b) x'—4x-5=0
¢) X +1lx=-24 d) X —8x+16=0
o) X +4x=3 n x+1=0

9. Solve using any method
s x-=1=0 by X —-2x-8=0

X;lj_l x-:qu\

o  2xXX+Tx+3=0 d  x*+13=8x

x=1i NCLEA ©)

10. Write the equation of the quadratic whose solutions are given X= |
a) 3,5 by -41 A==4 .
x.{."‘ =D X“l=0

(x-}t})(x-l)-'o
x3+3x-4=0



